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- SECTION -1 e
MATHEMATICS | piic]
The perimeter of an equilateral triangle whose 1 g Pt 8P 43 cm? W@
areais 43 cm’ isequalto L
(A) 20 cm (8) 10cm (A) 20 QT (8) 10 I
(©) 15 cm (0) 12 cm (© 15 A (0) 12 WA

hd

tan 3A - tan 2A . tan A R &
(A) tan 3A - tan 2A - tan A

- tan3A-tan2A-tan Ais equal to
{A) tan 3A - tan 2A - tan A

(B) tan3A +tan 2A +tan A (8) tan 3A + tan 2A + tan A
{0 tan3A-tan2A-tan A (© tan 3A - tan 2A - tan A
{D) None of these (©) T A P el
3| 729 %
The value of ~ i - is 3] 729 @AM ®
\ 0.4096 0.4096
(A) 5625 (8) None of these (A) 5625 (B) 399 & P TE
936 (b} 5.265 (@ 5652 (D) 5.265

¢« If7ithemeanofs, 3,05,45,3,85,9.5then|4 5 3 0.5 4.5 g, 8.5, 9.5 &Il ?{
] ) oy andy i he 8 ” qlw ,7,

the value of 3’ is
iA) 49 (8) 18 ?h ‘@ Dl "1 %

4 (A)
{0 31 (D) 12 ® o -
o 9 31 (D) 12
- The value of sin & + cos(90 +8) + sin(180
i -8)+|5 i
?m (180 + 8) is S.m B+ cos(90 + B) + sin(180 - ) +
- © 1 sin (180 + p) &T HH % =
‘ (A) o
ig 1 o
o) 1 ' '
5 (c) 4 (D) 1
¢ The volume of 2 cuboid | : E
idis »3 _ 7 AT
| X + 6,then|s Y
the longest side of cuboid is i i ’ |
bet x*—7x+6 8,
one of thege (8) , _ 1 ﬁ
e ~ (E‘A;"‘* T XTI ot oot gy -
L o, msﬁﬁﬁéaﬁf
x -1
(C)
x+3 D) y_2

I

| | J’ e ——

llﬁ!ui!“ | ;! | _/Qh
3
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|f5__éx53+5-3/:=55*2 then the value of | 7 qﬁ SVSXS3+5_3/2=53+2 ?‘ﬁ a @l

ais ' q_ e -
(A) 8 (8) 5 A g ®) 5
(€) 6 (D) 4 © g (D) 4
8. oo » 1 +si
Thevalue of 11510 X 0T F AN ® -
\ 1-sinx 1-sinx
(A) tanx —secx (B secx—tanx (Atan x — sec x (B)sec x — tan x
(© secx -tanx ®) secx + tanx (Osecx -tanx (D)sec x + tan x
° 4§ 2% = 5¥ = 107% then the value of o fE 2¥ = 5¥ = 102 ®, @
{1 1 1)
=+ == =) (3+£+£)Wqﬁ%—
X . r L x y z
(A) 3 (8 5 | (A) 3 (8) 5
@0 D) -2 I (4 D) -2
‘© The volume of cylinder is 448 mcm?® and |10 U6 TG  dd9 B A
height 7 cm. Then its lateral surface area is 448 T em® IR BT 7 em &, A
(Al 259 cm? ® 352 cm? a% Y8 w1 BT ?
A B
@ 252 am? (D) None of these W 259 em? ® 352 cm?
| @ 252 m? () B &
|
i
1. The value of tam15°is ,. 1 tan15° B AF ® -
W 2_.3 ® 2 @ 2 -3 ® 2
V3 V3
@ 1 © 243 @ 1 ®  2.43
2V3 2v/3
'2. The value of c0s20° cos70° — sin20° |12 4520° cos70° - sin20°
sin 70¢ sin70° mumE -
(&) = (B) None of these (A) oo (B) 371# A aﬂé Tl

€1 0)o ) 1 (b) o

' Tl Page: 3 354995
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Ravi can do 3 of a work in 12 days. In how

many days Ravi can finish the % work ?
(8) None of these

(D) 6 days

(A) 7 days
(C) 8 days

The LC.M. of 12x2y3z2and 18x*y’z’s
B 36x%y3z?

14.

(A) 21xvz

© 24x*y?z? o) 32x*yz’

Vertex of a triangle are (4, 6), (2, -2) and (0, 2),
then co-ordinates of its centroid must be

(A) (2, 3) (8) (1, 2)

(o (-2, 2) (D) (2, 2)

Use the following figure to find x® and v°

x = 50°,y = 30°
x = 30°%y = 50°
x = 50°y = 60°

(B) x =55°%y = 65°

17 If the ratio of volumes of two spheresis 1 : 8
then the ratio of their surface areas is ’

(A)1:6 (8) 1:2
©1:4 D)1:8

TR

| 13,

—

16.

R — —

qﬁ%ﬂmmmﬁﬁﬁﬁmg;
eﬁyzmmﬁ‘dﬁaﬁmﬁf&q

e

(a) 7 f&= () THH A IS
(0 g fa= (o) 6 fo=

12x2y3z? AR 18xty2z® P AAW § |
(A) 21xyz (B8) 36x*yiz?

(€ 24x*y?z? (0) 32x*yz?

afx Praw & W & FrdwiE @ e,
(2, -2) 3R (0, 2) 8 @ IUd FEPD >

frdeie &M

(A) (2, 3) ® (1, 2)
(c) (-2, 2) (D) (2, 2)
ﬁqn‘qﬁaﬁxcmys$m§-

(A}  x =50°y =30°
(8) x = 30°y = 50°
(C) x = 50°,y = 60°
(P  x =55°y = 5°

AT A M F oamgadr 71 8 F
gmﬁ,amwg@ﬁm

(A) 1: 6 (B) 1: 2
o1z 4 (© 1 : 8
P



'8 The compound interest onT 24,000|18 ¥ 24,000 &7 10% dlf¥d o @ WA
compounded semi-annually for 1§years atthe| 11 qf & w.a fHaar &, WEfE A
2

rate of 10% per annum are iy BuE <g SreT wan © 7

(A) ¥ 3,783 (8) T 3,774
(A) ¥ 3,783 (8) ¥ 3,774 Q z 3,583 D) 7 3.780
() ¥ 3,583 (D) ¥ 3,780

19. The sum of two numbers is 11 and their|19. Jfg |1 TEWRT. F1 0T 11 R SFH

product is 30, then the numbers are UG 30 B, O JETT B -
B

(a) 8,3 8) 7,4 () g 3 (B) 7, 4
D

@ 6,5 (D) 9,2 © 6, 5 (D) g, 2

20. In figure 2BAP = 80° and £ABC = 30°, then |20. fr %, ,pap—go° R ,ABC =305 @
£AQC will be £AQC B HH Gl

p A Q
(A) 55° () 110° (A) 55° (8) 110°
© 50° (b} 65° (© 50° () 65°
2t. Two  straight lines 3x-2y=5 and |21 @ WA IE@H 3x-2y=5 3R

2x+ky+7=0 are perpendicular to each 2x+ky+7=0 TF TR W a9 &, ar k
other. The value of k is

H A '
(A) 1 (B) i (A) 1 (B)
3 3 3 3
(C) i (D) 3 (€ 3 (D) 3
2 2

!’“*}7—— i '"w Page: S 354995
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23

26

A Verandah of area 90 m? is around a room

of length 15 m and breadth 12 m. The width of
the Verandah is
(A) 1.5m

(€) 2.5 m

(B) 2m

(D) 1 m

If points (5,5),(10,k) and (—5,1) are

collinear. Then the value of k is
(A) 9 (B) 6

(€ 8 (D) 7

The value of ]ogg (-1—5) is
12

(8) 3
(D) O

(A) 5
@ -3

In the given figure, the value of #DEC is

T N
A C B
(A) 65° (B) 75°
() s55° (D) 45°

The factor of (a%b* — 16¢%)is
(A) (2°b® — 4c?)? (ab + 2c)(ab+ 4c)
(8) (a%h? — 4c?) (ab+ 2c)?

(©) (a’b® + 4c?) (ab+ 2¢)(ab— 2¢)
(0)4(a’b? + ¢*) (ab— 2c)(ab + 2c¢)

I

22.

23.

24.

25.

26.

15 maﬁaﬁ?ﬂm?ﬂgm%w
AR 9o m?2 B B UH RFET

i

RER B AISE ©

(A) 1.5 m B 2 m

© 25 m ©) 1 m

i B (5,5).(10k) IR (54

H{EAT 8, A k B A B

(A) 9 (8) 6
() 8 (0) 7
1 §
— ) &I HA -
logs (125) &
(A) 5 (B) 3
(€0 —3 (D) 0

fav v 7 |, ,pEc #1 HE © -

A

(A) 65° (8) 75¢

(C) 55¢ (D) 45°

(a*b® — 16c*) P THETS &
(A) (a’b? — 4¢?)? (ab + 2¢)(ab + 4c)
(B) (a’b? — 4c?) (ab+ 2c)’

(€ (a*b® + 4c?) (ab+ 2¢)(ab— 2¢)

(D)4(a’b® + ¢*) (ab— 2c)(ab+ 2c)

Page: 6



27

28.

29

31.

The Quadratic equation, whose roots are
1tV and 4-_\?i
2 2
(A) 4% +16x+9=0

(8)

S

4x°—-16x—-9=0

(© 4x°—-16x+9=0

(D) 4x7+16x—-9=0

A train passes telegraph post in 40 seconds
moving at a rate of 36 km/h. Then the length of
the train is
(A) 400 m

() 500 m

(B) 395 m
(D) 450 m

If side of cube is 6 cm, then the diagonal of
cube is

W 3v2em B 6vV3cm

© 6v2em (D) 2v/3 cm

Angles of a triangle are in ratio of 1 : 5 : 12,
biggest angle of this triangle is
(A) 60° (B8 120°

© 90° (b) 45°

If sinx+sin‘v=1, then the value of

cos’x + cos*xis

27

28.

29.

30.

31.

afe frow wfexn $ oq@ 1Y
)
SR A
2

(A 4x*+16x+9=0

(B) 4x—-16x—9=0

© 4x*—-16x+9=0

D 4x?+16x—9=0

TH YAmE A SHME dne @ 40
UGS ¥ 36 kmh @ 91 T IR Bl
g, @ YT P g ¥

(A) 400 m (B) 395 m
(© 500 m (D) 450 m

gfe w9 @ o 6 WA B @ w @
fawot &

A 3V2em (8)

6vV3 cm

(@ (D)

6vV2 cm 2V3 em

TH A & PN B IFUE 1 : 5 ¢ 12 B

& A B A g1 PIOT -

(A 60° (8)  120°

© 90° (D) 45°

afe sinx +sinx=1. a

cos’x + cos*x @I AN = ?

w1 ® -1 (A) 1 (B) -
(€ 2 (©) 0 i o o
’_#—l | ‘ Page:7 354995



33

35

i

The value of expression
1 - lou—a-—loc:is

ST S2s S9

(A) 2 (8) 3

(©0 (D) 1

The solution of equation y§ _ ZY% = 15 1s

S

e g

32.

33.

15 25
(A) 2 (8) 3
© o (D) 1

WET 5 2ys = 15 & B &

(A) 25, 27 (8) 27,—125 (A) 25, 27 (8  27,-125
(© 25,-27 (0) 125,—-27 ( 25,27 (o) 125,-27
3 . gfe + B) = 43 3R -
If tan (A + B) = \f’§ and cos (A- B) = S , the tan (A ) V3 s A
3 X .
- N
values of A and B are B) = "2'@' @ A IR B F A E
A c 20° B o o )
W 40520 &) 157,30 W 40°,20° (B 15°,30°
‘c’ CC o (D o Q
45°,15 ) 60° 30 & 45 A5 o G085
The HCF of two  polynomials 3. @ dgdal p(x) = 4x?(x? = 3x +2)
p(x) = 4x?(x*—3x + 2) and PR
q(x) _ gt ) x? —4) s i T IR q(x) =q12x(x = ..-)U. —4) @
AA. 4x(x -2) & qguel &1 A9 § -
The LCM of polynomials is
(A) 4x(x —2) A 4x(x—2)
® 12x2(x2—3x+2)(x*+4) ® 12x2(x*-3x+2)(x¥* +4)
© x*(x2-3x+2)(x*—4) @  x2(x?-3x+2)(x*—4)
0 12x7(x? —3x +2) (x* — 4) O  12x2(x? —3x +2) (x* — 4)
The value of 36. 15
— 1_5_ _— V10 + 20 + V40 — V5 — v/80
V10 + /20 + V40 — /5 — V80 & A
W V5(2+v2) ™ V5(5+V2) W VE(2+v2) ®  V5(5+V2)
@ E1+vD) ©VIE+VD) | @ (E1+v2) © v3(E+VD)
;54“"3:
Page: 8 ’



37

32

Find equation of line passing through the two 37 &) G?{aﬂ (3,5) R4 (-4,2) | ?ﬁ'ﬂ'

points (3 5)and (—4,2)
A) 3y —7v+26=0

B) 3x+7v+26=0
© 7x —3y+26=0
0 3x 7y +62=0

The area of circle whose circumference is equal
to the perimeter of a square of side 11 cm is

A) 134 am* (®) 124 cm?

© 144 om*® ©) 154 cm?

The perpendicular distance between two
parallel  lines —-4v—-6=0 and
6x —8v +7 = Qisequalto

{A) 19/5 unit {8) 10/19 unit

{C) 19/10 unit (D) 19/2 unit

The length of sides of a triangle are in the ratio
2 -4 :5 and its perimeter is 144 cm. The area

of triangle is
A 764 cm? (8) 864 cm?
O 664 cm? (©) 684 cm?

1 The earth makes 2 complete rotation about its

axis in 24 h. What angle will it turn in 3 h 20
minutes ?

{A) None of these (8) 50°

@ 120° (0) 130°

W

39.

40.

41.

AR 1l Y@ w1 aiteR &
A 3x -7y +26 =0

B  3x+7y+26=0
© 7x-3y+26=0
@ 3x-7y+62=0
S gd & &A% fhar & @ aRkfer

1 cm YT 9Tt 977 & a&Y & 2
(A} 134 cm? (8) 124 cm?

© 144 cm? (D 154 cm?

q GHR @RI 3y 44y —6=0 IR
6x+8y+7=0 F 4 a= T &
(8) 10119 unit

(®) 19/2 unit

(A) 19/5 unit
(© 19/10 unit

Byt & el B U 3 : 4 5 B
IR SHSHT IRAT 144 cm B O SHH
SFBA R BET ?

(A} 764 cm? (8} 864 cm?

© 664 cm? (0 684 cm?
A JE HF R YA g¢ TP dIDY
P W 24 HUE oMY 8, o 9§ 3 HUCT
20 fFe # e o7 g

(A) PIg el (8) 50°

(© 120° (D) 130°

Page: 9 354995
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42

43

45

L

-\

. 1.
IfA= 41 + -then the value of A + A is

(A) 1 B 4x2+1
4x3 4+ x x
(©) None of these (D) X
4x2 + 1

The median of the following data 25, 34, 31,
23, 22, 26, 35, 29, 20, 32 is

(A) 22.5 (8) 29.5
(©) 30.5 (D) 27.5
Find the value of complementary angle of 75°
(A) 85° (B) 15¢
() 30° (D) 45°

IftanB +sin@=mand tan @ - sin 8 = n. Then

thevalue of m® — n2is

(A Vmn

(B) 4 mn

@) 4+/mn

© 2vmn

The wvalue of (x = 3) (x2 +2+ iz) is
X .

X
equal to

A 4
x*+2x+ —— 8
(B)x3_ _8_
x3
(©) 8 D
x3+—3 ()x3_£
X xz

| 42.

43.

45,

46.

AfF A= st P A+ TAT Y

(a) 1 (8) 4x2+1
4x3 + x x

© g TE ® X

4x2 +1

o siieel & WiftasT & -
25, 34, 31, 23, 22, 26, 35, 29, 20, 32
(A) 22.5 (8) 295

(© 30.5 (D) 275

BT 750 F DI T BT BT 7 ¥

(A) 85° (B) 15°

(€) 30° (D) 45°

I tan @ + sin @ = m IR tan g -
sine=n8, @ m2_ 2 B AF L

(A y/mn (B) 4 mn
©  2ymn @) 4ymn

c-2) (x2+2+ ) oA g
(-3 =)

A 4
X*+2x+ —— 8

X
(8) 8
- —
x3
() 8 b
x x?2

11



a7

48.

49.

i

The value ofX('°8 y —logz) ; Y(log 2= logx) [ a7. X(log y-log z) Y(Iog z-logx)
X

log x—lo i
" Z( g g8Ylis equal to

(8) 3
(D) 1

(A) 0
@5

A and B can do a piece of work in 72 days. B |4s.

and C in 120 days and A and C in 90 days. In
what time can A alone do it ?
(A) 110 days (B) 120 days

(©) 60 days (D) 55 days

1
i (v+2) -
x

(.1'3 + %) will be

\ X

V3 then the value of

(8) 33
(D) 3(\@— 1)

(A 3(v3+1)

@o

i +3x—2 = 213 + 4, then the value of x

50.

g} Z(lozx—logv) R ¢ -

(A) o
(€ 5

(8) 3
(D) 1

A 3R B f&eft oM & fiaax 72 A}
T &R € B IR C S 3 31 120
fesii & Jam A SR C, 90 RAT # W, ar
A IS IH HM B e AT F s
A 1o fe=1 & (8) 120 fe=} &

(© 60 faAT ¥ (0) 55 fa=r #

® (e na (e

P qF BT -
) 3(v3+1) (8) 3y3
© o ® 3(y3-1)

W 3y —2=23+4 W x P AA B

i* _ A 14+ V3 (8) 2(1 - v’§)
A 1+ V3 ® 2(1+ V3) B
_ (C) 1-+v3 (D) 2(1_ V’E)
© 1-V3 © 2(1- V3)
12



51

SECTION - 1l
PHYSICS

Two resistances combines in series order
provide 50 ohm resultant resistance and when
it combines in parallel order provides 8 ohm
resultant resistance. Then the value of each
resistance.

{A) 21 ohm and 29 ohm

{8) 10 ohm and 40 ohm

{©) 20 ohm and 30 ohm

(D) 15 ohm and 35 ohm

A ball is released from the top of a tower of
height h meter. It takes T seconds to reach
ground. What is the position of ball above the
ground in T/S seconds ?

(A) 25 hm B) h
25
(© 24hm (D) 24

3
— am

—

in an L-C-R circuit, 100 volt alternating voltage
ic applied between end points. In circuit
inductive reactance is XL = 20 ohm,
capacditance reactance is XC = 20 ohm and
resistance is of 5 ohm. The impedance of circuit
will be

(A) 20 ohm (8) 5 ohm

{C) 15 ohm (D) 45 ohm

The capacitance of a capacitor is 3 pF. If 108 uC
charge is available in it, then what will be
potential difference between plates ?

— -
Hifdes =
o o) gy Wi At BH H AT Ry
S £ dr 50 3 AM B AR yem
R & qT 91 S AR PA H Sy
& oy 8 oW @1 IRRY U XA £ | 3
gfaRE &1 A BN -

(D) 15 a3 3} 35 IAH

2 TH did, h $a1% $ @ b W § B
S & o WHE 9% 9gEH W T davs
B GHT od & | T/5 ADUS 41 did &

oiE @ g e
(A) 25 h f 8) h
25
(©) (D) 24
24 h ot 22 &
25

53-Q$L-C-Rqﬁw$mﬁ$éﬁ1ooa‘f&'
#7 TITgdT fug omar war & | uRed #

R wfrard XL = 20 3, @iRdE
gfyara XC = 20 3F dur 3 aRRe
R = 5 aF & | uRuy @ ufraren 8rf -
(A) 20 3 (8 5 M
© 15 aH (D) 45 aH

ﬁ-wﬁmﬁaaﬁaﬁmsﬁélaﬁsﬁ
1oapcwaﬁwaa#wﬁaaﬁﬁ€f
& dg fqyarR 8rT -

{A) 324 volt (B) 224 volt
(A) 324 dlee (8) 224 dlce
() 36 volt (D) 24 volt
(€ 36 dlee (D) 24 dlec
i ‘ Page: 12
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% One proton enters i a magnetic hiekd of 2500 UE Wt 2500 ,;Ig,{mftmz-lﬂ tﬂéf

N / Amp- m intensuly with velocity of
4 x 10° m/sec in paraliel of fisdd The force

exerted on proton will be
ia) ON (®)

48 X 10 ‘°N

©@ 048 x107°°N © 48 x 10i°N

100 gm of water at 60 “C is added to 180 gm | s6
o water at 95 °C_ The resultant temperature
of mnture &
N 80 °C

® 825°C

©) 85°C

- Two unlike paralle! forces 2 N and 16 N act at | 57.

the ends of 2 uniform rod of 21 cm length. The |

noint where the resultant of these two act is at
z distance of from the greater force. |
Al & cm {8) 3cm ;
i€ 2 cm (D) 1 cm I‘

Magnetic flux of a2 20 round coil is reduced to ' 58.
zerg from 0.3 weber in one second then the |
mduced e.m { between the terminal of coil ‘
w185y B)ovV

i62sv D)3V

The electric field strength at a point in an 59
electric field is 30 N/C. Find the force|
experienced by a charge of 20 C at that point

(4) 600 N (8) 30N

© 20N (D) 300 N |

IR

Wﬁ’lﬂ,‘ylnaf;*ﬂffm

¥ UMRR wdm wvar & | Werd W
W 4 B A A

W= qAEA
®48 x 1010 &
©048 x 10 1° &

©48 x 1010 A

60 °C dM & 100 TH U B g5 o AT

at 180 W Ut H e wmEr 2, &
fsor &1 oot amg @ -

(A 80°C (8) 825°C

(C) 7757°C (D) 85 °C

2 IEM TR §0 2 N 3R 16 N &
219 ol B ¥ AR ® & &= @
£ @R a7 O W Rg o @ W F@
W® I& S gl B R g B
M -

(A) 4 A (8) 3 I

© 2 JW ©) 1 IR

TR 1 UHvE H 0.3 da¥ § "eHR LI
E A g Al el & RRI & 4N
aRa fagd aE®d d4d (e.m.f.) BFN -

(A) 15 dice (8) 6 diec

(© 25 dree (© 3 diee
vg fagd &= A4 fddl R w®

ga &
@ digar 30 YeA/pem & | ¥ g W
20 P & AN W AT dlell &1 B

(&) 600 e+ (8) 30 =qc+

(© 20 =ge- (0) 300 e
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80 A particle is moving along a circular track of

61

radius 1 m with a uniform speed. The ratio of
the distance covered and the displacement in
half revolution is

A 1:1 8 m:1

© 2:n (D) :2

-

A car of mass 2000 kg is moving with a velocity | 61.

of 18 km/h. Work done to stop this car is

(&) 25 x 10%joule(® 25 x 10°joule

(© 25 x 10*joule® 25 x 107 joule

If radius of Earth shrinks by 4% and mass of | 62

Earth unchanged, then the value of
acceleration due to gravity will be changed by
(A) 16% (B) 8%

Q) 2% (D) 4%

A spherical mirror and a thin spherical lens
each have a focal length of — 15 ¢m. Nature

of mirror and lens will be
(A) Both concave

{8) Mirror convex and lens concave
{C) Mirror concave and lens convex

(D) Both convex

A stone is gently dropped from a height of |84

20m. If its velocity increases uniformly at the
rate of 10 m/sz- With what velocity and after

what time will it strike the ground ?
(A) 20m/s, 2 5 (8) 10 m/s, 20 s

(€) 10m/s, 2 s (D) 20m/s, 20 s

63.

U B 1 W BT qAPR ™ R TP
T9F Al § T HX @ & | P EN
ST gEE] AT § ot T g U
faes § U BT -

A 1:1 B w1

© 2:m ) 2

2000 kg # TF HR 18 fedlaver & am
J 9 & & | R B AP F B BT
BT |

(A) 25 x 105= B 25 X 10° %=

© 25 x 10*s= (@ 25 x 10° =

IR @t # o 4% Rips oA
zamE § P URadd T B O o
@R & A9 A 9Radd 8 -

(A) 16% (B) 8%
() 29 (D) 4%

TH Mg 9o 3R Th gael Meld o¥
P B BIHT GO - 1555 © | U Ud
o9 8 -

(A) T 3raad

(B) iUy 99 IR o9 IJaddl

(©) gYur 3qded IR ol I

(D) T S

e TR 20 § & 3ars A REm <mer
£ ] frA & SRA @R & a7
1oﬁ/#za%a?ﬁam%|wﬂ:rw
THIY GHT TR Bl 97 U4 o 9HY

BRI
(A) 20 WA, 2 AITS

(B) 10 H/RA, 20 AHUS
(© 10 #/=, 2 AHTS
(©) 20 WA, 20 TVHIS

TN
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s A sound wave has a frequency of 500 Hz and
wavelength 80 cm. How long time will it take to
travel 1km ?

(A) 2.5 seconds (B) 25 seconds

() 25 minutes (D) 2.5 minutes

s In a simple pendulum experiment, a student
calculate the value of g is9.92 m /s? but the

standard value of g is980 m/s? then the
percentage error in the calculation of g is
(A) 1.42% (B) 1.32%

(© 1.12% (D) 1.22%

&7 A charge of 10 coulomb is brought from infinity
to a point P near a charged body and in this
process 200 joule of work is done. Electric
potential at point P
(A) 10V

(0 200V

(8) 100 vV
(D) 20V

52 Heat (in calorie) required to increase the
temperature from 10 °C to 20 °C of 6 kg

copper is same as heat (in calorie) required to
increase  the temperature from 20 °C to

100 °C of 3 kg lead. If specific heat of copper is
0.09 then the specific heat of lead will be

| N
6. 500 ®cW IMgf

66.

67.

68.

v go A avered @
TF @afy v @ 1 A g8 ad dxA A
THT o

(A) 2.5 QHve (8) 25 {HUS

(© 25 fiqe (0) 25 fiqe
f&l B ERT WRa AP B WA FRA
WHE O ERT ) B AM 992 m/s?

W B ® | SiEfd g b1 wEie |4
980m/s2 & | @ g & WM & b

q mfoeg Ffe enft -
(A) 1.42% (B) 1.32%
© 112% (D) 1.22%

10 AW AW B ITW W TH T
IR F Y fdg P B an d 200
Gl B &R Usal 7 | Qg P W

fae@ fawg g -
(A) 10 dree (8) 100 dlee
(©) 200 dlee (D) 20 dlee

6 fm dfe & WM 10°c ¥ 20 °C

6 M H Sa & B ST @D
AEEHar el B, o & 3 e Ry
@ YA 20°C ¥ 100°C TP A H

AETHAT Bt & | AR G # fAlme
S 0.09 B, @ WY & faRe s

(41 0.033 (8) 0.022 Bt

(€) 0.044 (D) 0.055 (A) 0.033 (8) 0.022
(A 0.044 (D) 0.055
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|
80 V., Vg, V¢ are the velocities of violet, red and |6s. ®fg & T& fasq § &7+, o7 Ud w

70.

71

72

73.

green light respectively, in a glass prism. Which
among the following is a correct relation ?

(A) \!’<VR<VG (8) V\':VR:VG

© Vy<Vo<Vg © Vy>Vy>V,

The gravitational force between two masses
kept at a certain distance is ‘P’ Newton. The
same two masses are now kept in water and
the distance between them are same. The
gravitational force between these two masses
in water is ‘Q’ Newton then

(A} P > Q (8) None of these

@ P=Q @ P< Q

100 joule of heat is produced each second in a
4 ohm resistance. Potential difference across
the resistor
(A) 40V

(© 20V

(8) 100 V
(D) 50V

An object 4.0 cm in size, is placed at 25 cm in
front of a concave mirror of focal length 15 cm.
At what distance from the mirror should a
screen be placed in order to obtain a sharp
image ?

(A) + 25 cm (8) + 255 cm

(@ —355cm (D) —375cm

An object is placed in front of a convex lens of

70.

71.

72.

73.

g & an @ Vi Vg, Vo g
1§ P9 W e adl 2

(A)VV < VR < \YG (B) VV = VR = VG

(C) VV < VG < VR (D)‘fv > VR > \7(}

® e € & 9 § ot 9d -
ed ® | 58 M goEEl B o §
T TR W WM g W W W
TSN 9 (Q ged B @) -
AP > Q BT A P T8
©OP = Q P < Q

4 3 i § 9l AHTS 100 A SO
IO P oo B | oufeRy d RRI W
favarar 8 -

(A 40 qree (B) 100 QreT

(© 20 dlce (0) 50 g

TH 4.0 W AR A q& Hadd <Yl
e wea g 15 9 € & uRE
250 ¥ g0 W Rea@ & | gduwr 9w
T W U ggl @ I & a&g &1 feor
ufafdrd a7 ¥ 2

(A) + 25 &f (8) + 25.5 &

(9] — 35.5 & (D) — 37.5 &f

T axg 12 94l Biea g8 & Idd ow

focal length 12 cm. If the size of the real image & amq Rea & | afe arafds ufafes
formed is half the size of the object, then the D PR, 9 ® ABR BT J™T B, O
distance of object from the lens g B o A g e
(A) 48 cm (8) 36 cm (A) 48 I (8) 36 HHI
(€) 26 cm (0) 30 cm (© 26 (D) 30 O
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.+ A body weights 75 gm in air, 51 &M when 74

7

completely immersed in unknown liquid and 67
gm when completely immersed in water, Find
the density of the unknown liquid

(A 4 gm / cm?® ® 6 gm / cm?

P D L q
©ggm/em® © 3gm/m?

A wooden block of mass 6 kg is pulled across a | 75

rough surface by a 54 N force against a friction |
force F. The acceleration of the block is

& m/s- then the value of friction force F is

A} 36 N
{0 18N

(8) S4 N
©ISN

e

W@ fvs & gq1 § gewE 75 gm € |
AT Za ¥ gof w9 § g4 W 51 gm
TR g7 gm & | Fem@ Ta @
LEG: -

W 4gm/cm® ® g gm / cm?

(€) 8 gm / cm3 (D) 3 gm / cm3

6 oM TomE B v dvd @1 wite
W de F ¥ fog 54 N 4 gRT U@
me@mmgnmm
R /228, @ T dd F B HE
am

(A 36 N (B) 54 N
© 18 N ) 9 N
Page: 17
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~ SECTION- Il
CHEMISTRY

Hr - III

76. Electronic configuration of copper can be 76 PIAY Pl s&aallﬁ&s Ia-_{llil FIEIQ'ET f%szn

o

represented as

(A) [Ar]4s?3d*° ) [Ar]4s°3d°® .
|
(@ [Ar]4s°3d%4p’ [Ar]4s?3d'94p? |

Which among the following pairs are not 77

having same number of total electrons ?
(A) Na*and Al’* ® QO° andF~

@ Mg*andAr © P3andAr

The half life period of a radioactive element is 78,

150 days. After 600 days 1 gm of the element'
will be reduced to '

ia) 1 . (8) 15
325 16 ©
g 1 oy 1
g B 16 &™

-~

nitrogen is

A) 6023 x 10+ () 6.023 x 102

O 6022 x 107 (0) 6.023 x 103

The common name of 2-Butanone is 80.

(&) Acetone (B) Butyraldehyde
{0 Acenc anhydride

(D) Ethyl Methyl Ketone

"he number of molecules present in 2.8 g of | 79.

o dhdl &

(A [Ar]4st3dte (B) [Ar]4s23d°®

(©[Ar]4s’3d°4p'  (O)[Ar]4s23d'%4p!?

frmfoRea & 9 @9 w gm w9
AT T qTeAT el & 2
(A Na*w=AlI** (B) 02" 5 E-

@ Mg’*w=Ar () p-3

TS AAfded aw@ @ ALAgdE 150

13 Ar

fe7 2 1 600 RT a8 1 gm T %=
ST
(a1 |8 15
32 #% 16 5™
© 1 (D)
g &M 16

2.8 g TS H IAUET @ SRR wiver
3

(A) 6.023 x 10%* (8) 6.023 x 10*#

() 6.023 x 10%° (p) 6.023 x 10%

2-GCAE H 9ERT A T

(A) gfeH (B) Fferfeesrse
© wRifts rERgES

O) gl YR FieH
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o The |UPAC name of
CoHs

HC=C- Cl—CHais
’
(A) 3-Methyl-1-Pentyne
(8) 3-Methyl-4-Pentyne
(c) 2-Ethyl-2-Propyne
(D) 3-Methyl-5-Pentyne

Essential constituent of an amalgam is
(B) Silver

g2.
(A) an alkali

(€) Mercury (D) an alkali metal

g3, Equivalent weight of a dibasic acid is 12. Its
molecular weight is
(A) 6

(€ 24

(8) 12
(D) 48

84. |n the following reaction

S0, + 2H,S—— 35S+ 2H,0
(A) Sulphur is reduced and oxygen is oxidised
(B) Sulphur is both oxidised and reduced

(©) Sulphur is oxidised and Hydrogen is reduced

(b)Hydrogen is oxidised and Sulphur is reduced

% Which of the following types drugs reduces
fever ?
(A) Analgesic (B) Antibiotic

(©) Tranquilizers (D) Antipyretic

iy

81.

82.

83.

HC=C—C —CH,®l IUPAC AT ¢ -
l

H
(A) 3-FrRmger-1-Yerga
(B) 3-ferge-4-Ure
(©) 2-gRTgeT-2-Hrg
0) 3-frRrsd-5-Uersa
IHATH T & 9P &
(A) T gr (8) 47dY
Q) gRT (D) T &R 9Tq
@ feulae s & geuiat MR 12 © |
TUPT VMR BAT -
A 6 (B) 12
(€ 24 (D) 48
e afafspar &
S0, + 2H,S— 3S+ 2H,0
(AIER & JTGIT 9 AR Bl
SRS g3 & |
(B)FeHY BT ARNPIOT T4 AGGIT QI
M|

(O FeHY ARAPad Td eg|o-  Jqafd
1T |
O)ERgT ARNPd W@ Tobx IJqald
I

P O OEA @R FH IRA b BE

A T ?
(A) TS (8) TEAqEIfe®H
© TiagaTgod (0) TEURfe®H
= T 354995
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86. Hydrocarbon used for welding purpose is 86.
(A) Ethene (B) Ethyne
(C) Ethane (D) Benzene

87. An example of thermosetting plastic is 87.

(A) Polythylene
(€) Bakelite

(B) All of these
(D) PV.C.

88. Which of the following order of ionic radii is | 8s.

correctly represented ?

(A H->H*>H (B) Na* > F~ > 0~

(O F->0° >Nz~

-

(D) Al** < Mg?* < N3~

83 Amount of copper deposited on the cathode of | 89.

an electrolytic cell containing copper sulphate
solution by the passage of 2 amperes for 30
minutes — (At. mass of Cu = 63.5)

(A) 1.184 gm (B) 0.2214 gm

(©) 2.214 gm (D) 0.1184 gm

9 Which catalyst is used in oxidizing NH; in|so.

Ostwald's process ?

{A) Pt (B) FeO
O V.0 (D) Molybdenum
91. Real gas behaves like ideal gas at 91.

(A) None of these (B) Low temperature

(©) High temperature (D) High pressure

IfecT § ygad ERgPET ®

() gfiq (B) TS

© wWH D) 5=

RIS WifRc® &1 U SCTervl & -

(A) gfeftefi= (8) F ot

(© Jdberrge (®) p.v.C.

smfye frouet & fog fFafaRed & @
D AT S HH B ?

(AAH™ >H" >H (B)Na* > F~ = 02~

(OF > 0" > Na*

(D)AI** < Mg?* < N3~

PR Aehe ¥ Jaa el fIe@ smqwei
A ¥ 2 UPRR @ gRT 30 fAe 9@
TaIfed R W e W GPEE W B
qE1 & - (R I WRAY] ¥R = 63.5)

(A) 1.184 gm (8) 0.2214 gm

(€ 2.214 gm (0) 0.1184 gm
ditcdies fafr d smifEm (vH) @
JFAHRoT § ygad SRS &

(A) pt (B) FeO

(© V,0, (D) HicflssTH

awifds 9 ey N @ we gaEr
Bl B

W 8 & PS5 T
(B) 9= 9e w®

© I qHH ® (D) I= <9 ®
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/_,/————"'—‘*‘\' - _——\‘*————7——“,__, e
o Therate of diffusion of a gas is r and its density |92 fpeft N & Qurur & X r 9T SUDI
:  d, then under similar conditions of pressyre 9] d ®, @ 9HH 29 Tg dm9 I ferfa
and temperature i
(A) rxd B) vd (A) r < d (8) royd
1 (D) 1 (c) 1
@ .- I 06— < (D) :
£ vd e e Ja
= Among the following, ionic hydride is © frafofes ¥ 9 smfe aéees & -
() BH; (%) PH, (&) BH, ®)  PH,
(© MgH; (®) SiH, (©  MgH, (®)  SiH,
« Detergents are the salt of . fEesi=yg gy § -
(A) Carboxylic acid and Sulphonic acids or alkyl (A) Faifoafers T U4 A aFel AT
hydrogen sulphates both Ufedpa BEge webe QMY
(8) Carboxylic acid (B) FHIgifafers e
(©) Sulphonic acids or alkyl hydrogen sulphates O9epifd  apar a1 Ufepar BRSNS
{D) None of these qobe
O)HE
% Hardness of water is due to the presence of %. Ul P HORAT B BRI g
(4) Sodium and Potassium salt (A AfsTq T 9eRrM dqur
() Calcium and magnesium salt (B) dfesrmm dom IR aqur
(©) Lead and copper salt © &< Ud SR qur
(D) None of these @ 39 | +E =&
# Inwhich of the compound oxidation number of | 9. = # & by e § aifeiior & forg
oxygen is +2 ? SATRNHIOT =T BT 49 +2 27
W F.,0 (8) Na,O0, (A} F,0 (8)  Na,O0,
© K.0 (o) 0, (© K,0 (d) 0,
T F,C = CF, is a monomer of % B5C = CF; T9d%® & -
(&) Nylon-6 (B) Buna-S (A) -6 BT (B) SAT-S B
() Teflon (D) Glyptol (€ SHEE B () Reeia &
lliiﬁﬁ »‘ﬁg\l_l‘ - Page: 21 354995
M
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|

9. 10.0 gm CaCO; on heating gave 5.6 gM of CaD | 9. 10.0 gm CaC0; ™ & W 56 gm CaO
Td 4.4 gm Coza?ﬂﬁlﬁmgan

and 4.4 gm of CQ,., given data support the
dimer Frgm &1 WA #Ral § -

law of

(A) Multiple proportion (A) ‘Iﬁ'ﬁ CRLIG] (8) ReR T
(B) Constant proportion (0 =eg @ AfR=REr &1 faH

(€) Law of conservation of mass () ¥ Tf

{D) All of these

9 Cracking is a process used for change in oo o UfHaT WA ¥ I & uRafda &

(A)Higher molecular weight alkane to lower & forg
molecular weight alkane (A= JJUHR dldd Yo B 7 IR

arel Todbd H
(B) PIET P Ufesezs A
() Tohd & WHfeH sEQIHET §
(0) TepIElcl F Tfeserss A

(B) Ketones to aldehydes
(C) Alkanes to aromatic hydrocarbons

(D) Alcohols to aldehydes

100 An organic compound contains carbon =[100.U&% IR gerf #§ Hdq = 38.71%,
38.71%, Hydrogen = 9.67% and Oxygen. The E‘IS@GF{ =  9.67% dT 3= ® |
empirical formula of the compound would be Qs &1 ﬂdﬂtﬂ?ﬁ A BT
(A) CH;0 (8) CH,O (A) CH,0 (B) CH,O
(9 CH.O () CHO (c) CH,O0 (D) CHO

L



